
PFFE 7131

UP

DOWN

6 8

MOUIN_PFFE7131_V05

A 1x PFFE 7131

4x W edge bolt M8x50

B

4x Screw M10x16

C

4x Screw M8x60

D

E

4x Bolt M8x12

E

F

7

4c 5

TOP    TV

4b

2

PFS 32XX

USE PFA 9134 WHEN MOUNTING 
TO THE FLOOR 

PFA 9134

C

D

1

100 mm

ø 14 mm

4a PFB 34XX3

F

PFFE 7131 max. 150 kg / 330 lbs

1x Remote controlB


